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9.1

9. 2.

9. 3.

9. 4.

afiferens 9EA (PHYSICS)
(SCIENCE QUIZ COMPETITION)

T?

(A) HIEEhHIA
(B) HI
(C) ThciHIX
(D) TeRetiFieX

£ 3 ¥ Fr @ THE @ BT Q. 1. Which of the following is smallest

unit?
(A) Micron

d@/(Ermi

(C) Millimeter
(D) Killometer

ek YA SEAWTE Weh i gifd @ Q.2. The energy released by the

Seatsta St ardl 8-

(A) 931.53d

(B) 931.53aF-deE

(C) 931.5 Fercil gorrei Alee

(D) 931.5 faferam seragi dlee

R adEo X =at + bEHwHI: Q.3

a a4l b%im%:-

(A) /R, /A
(B) /¥, H/H
(C) /™., ™. /4.
(D) Wi/® , /&

TR AR W S aE Q.4
s .

(A) T

(B) XA

(C) =R
(D) amRafdd

complete Destruction of a am y
mass is

(A) 931.5 Joule

(B) 931.5eV

(CY” 931.5 keV

(D) 931.5 Mev

In the equation of motion X= at+bt*
the units of a and b are
respectively-
(A) m/sec?, m/sec
(B) / m/sec, m/sec?

) m/sec, m/sec
(D) m/sec?, m/sec?

If the momentum of a body is

doubled, the K.E. is -
(A) Halved

(D) Unchanged



9.5 A8 a0 whm awe -

(A) TS TrEE

(B) et graah

C) T gs
(D) SRisd gt

Q.5. Which of the following is an

artificial magnet -
(A) BarMagnet
(B) Horse - shoe magnet
(C).Magnetic needle
All the above

¥. 6. RATICTeh o e Ta@hia @ 8T Q.6. The magnetic field inside s

q. 7.

9. 8.

3
(A) T
(B) UTHEHTH

(C) T
(D) STRIed G

Fﬁﬁﬂﬂﬁﬁﬁmwﬁmmﬁm
WraTg ?

(A) A

(B) ¥aeR ATt A

(C) =af ey

(D) STegRAF T

Brelt 8-
(A) A
B) A/2
(C) A/4
(D) 2

solenoid is -

(A) Radial

(B) Uniform
(C) Circular
(DY All of these

. Which waves are used in

sonography?

(A) Microwaves

( Bﬁ Infra red waves
(C) Sound waves

(R} —Ultrasonic waves

U IS A1 A F HA R ZH  Q.8. The distance between node and

anti-node is -
GV

B) A/2
(C) A/4
(D) 2



g. 9. arg & LAl @ T i Wi ge T Q.9. Which one is not produced by

U Tl ¢ ? sound waves in air?
(A) G {A) Polarisation
(B). forer (B) Diffraction
(C) T9ekiA (C) Refraction
D) IRERE (D) Reflection
9.10. T et & AT 3 W Tfes S Q.10. If the momentum of a body is
It 8- | doubled the K.E. is -
(A) SATET (A) halved
(B) saRafdd (B) unchanged
(C) Al (C) doubled
(D) TR (D) 4times
9.11. ﬁﬂﬁﬁﬁﬁﬁﬂﬂﬂﬁ%—* Q.11. Which of the following is not
matched -
(A) e - A sl s 1 HE (A) Decibel - Unit of sound intensity
(B) ErEHTaR — WIferd 1 HIFh (B) Horse Power - Unit of Power
(C) TSHE - HHI &1 HIHS (C) Lunar month - Unit of time
(D) HfETH — A1 I HHD (D) Celsius - Unit of heat
9.12. 311'5@ ¥ foga W & &= aem - Q.12 The appliance which works on the
USRI - _ | principle of moments is -
(A) TEmgem (A) Spring balance
(B) UgTH =S (BY Pendulum clock
(C) Egfowd dfean - (C) Balance Wheel
(D) =S el (D) Beam Balance

.13, U SECToIE @ e i@ @i gmar - Q.13. The Power if a convex and

a9 3.5D & 2.5D & A1 W i concave lens are 3.5D and 2.5D

! eIt & Wehtd Bl respectively The power and nature
| ' of the Combined lens will be -

(A) 6D 3 (A) 6 D Convex

(B) 6 D e {8y 6D Concave

(C) 1D 3cdcd (C) 1D Convex

(D) 1D Hqdd (D) 1 D Concave




9.14. A ufeea warel = wemO Wi Q.14. The atomic number of radio active

@l ageT s a7 Seafla - element will not change when it
emits -
(A) a- & (A) e - particles
(B) PB-wu (B) P - particle
(C) ¥- <07 (_g) T - particle
(D) SR T (DY All of these
9.15. UTEhe! WIS §- Q.15. Pascal is a unit of -
(A) THE (&Y Pressure
(B) = (B) Force
(C) TEIdam (C) Linear momentum
(D) il (D) Energy

9.16. W TEcaTehuur f1adiss G %1 Q.16. The value of G Universal

T Bl 8- gravitational constant is -
(A) 6.67 X 108 N-m?/ kg? (A) 6.67 X 10°8 N-m?/ kg?
(B) 6.67 X 10" N-m?/ kg? g{ 6.67 X 10-"" N-m?/ kg?
(C) 6.67 X 108 Kg-m?/ sec? (C) 6.67 X 108 Kg-m?/ sec?
(D) 6.67 X 10" Kg-m?/ sec? (D) 6.67 X 10" Kg-m?/ sec?

9.17. Ueh WY SNeTeh &1 3T A §, 98 Q.17. The amplitude of a simple

Teh w T W et g a9 & pendulum is A, then the distance

Tt i - covered by simple pendulum in
one complete oscillation is -

(A) O (A) O

(B) A (B) A

(C) 2A (C) 2A

(D) 4A ' (D) 4A

=24



9.18. U R 30 Ferdt. @t gt 30 e A Q.18. A car covers 30 km distance in 30

o =t & W& eFTert 30 feret i gd minutes and next 30 km distance
40 fire o qui st T 9 &R &l in 40 minutes then what will be the
affaa =T oI B ? average speed of car?

fi) 40 Km / Hr

/(B} 51.4 Km/Hr
(C) 30Km/Hr g
(D) 60.5Km/Hr /X

(A) 40 forHl / BmeT
(B) 51.4 forst / =roe
(C) 30 sl / 8ueT
(D) 60.5 fHt / =wen

9.19. I 9T skl 0°C H4CaxTHHIT  Q.19. When water is heated from 0°C to

AT @ - 4°C then -
(A) C >C, (A) C,>C,
B) C,<C, +8) C,<C,
©) C,=C, €) C,=C,
D) C,-C,=R D) C -C, =R
7.20. WR fafEon =t wran s 8- Q.20. Solar radition is measured by -
(A) TRRHERTE (A) Pyrometer
(B) TEMIEXH (B) Astrometer
(C) SHRTH e (C) Barometer
(D) ®AEIH (D) Manometer

9.21. W& A faanr & ar & @sﬁ 99 Q.21. When we pluck the wire of a sitar,

1Y | 3 g aa & - the waves produced in the air are-
(A) 3TIeed (A) Longitudinal
(B) AT : (B) Transverse

(C) Togm grenid | (C) Electromagnetic
(D) T A HIg el Mlnne of these



24+ gt
l-‘"‘"ﬁﬁ 2N | /1
S
(A) " 3/4 Q (A) 3/4 V{* LV
(B) 4/3 .8
Q (B) 43
(C) 16/3 0 ©) 163 ¢ M/Qc
(D) 3 (D) Infinite C oW
s
¥.23. T fehet a0 ot SadeR e T, S9aT - Q.23. If the time period of awaveis T, its
T V q9r aarges ), ERE | - velocity V and wavelength is ) thg%)
oy i -
(A) A—T (}/" A= o
B) A=y 0 g > &
Cl A= 3 o
(C) :T (C) VIt y /K; 3 /
© r=T1 O =L 7 $
v N
A& ey
9.24. ﬂmﬁﬁﬁmﬁaﬁ%ﬁlﬁ%— Q.24. The frequenc uf/_zcnnd 'S _} /b
pendulum is - |
(A) 058 }A) 0.5 Hertz ’
(B) 1.08w - (B) 1.0 Hertz
(C) 2.08w - (C) 2.0Hertz
(D) S5.0% (D) 5.0 Hertz

9.25. 4/25 FeAH &9 H fpay TEET Q.25. 4/25 coulombs of charge contains

BAE? how many electrons?
(A) 10 (A) 1015
(B) 10° | (B) 10
(C) 102 (C) 102

(D) 10 (D) 107



TEEA 9T (Chemistry)

7.26. Frefeiad & & @ 91w aEEes - Q.26.
uftad= T8 &-
(A) e H ST el
(B) IS o1 9T

(C) e ohl STHHAI
(D) SRS ohT STeAT

g.27. Frefefaa § | & @ @ @ Q.27.
3T 8-
(A) H,CO,
(B) HNO,
(C) CH,COOH
(D)

HCOOH

g.28, Ueh dcd M 3 aTfaaTee o Tt Q.28.

Which of the following is not a
chemical change -

(A)
(B)

_@) Freezing of water

Rusting of iron
Digestion of food

(D) Burning of paper

Which of the following is a mineral
acid -

(A) H,CO,

(B) HNO,

9) CH,COOH

(D) HCOOH

The chemical formula of the oxide

Hgmzﬁﬁlsﬂﬁ?tﬁmmmﬂfﬂ— of an element M is M,0,. The
chemical formula of it's phoshate
will be - '

(&) M,(PO,), _AK M, (PO,),

B) M,(PO,), (B) M,(PO,),

(C) M(PO,), (C) M(PO,),

(D) MPO, (D) MPO,

.29, ek Hea I UTHIO] €A1 19 # 15 Q.29

FHrsTeRat gl -
(A) 1
B) 2
(C) 3
(D) 4

Atomic number of an element s 19

It’s valency will be -
M

(B) 2 >
sl

(D) 4

l
%,

)




u.31. Fafafaa 9 9 e atfirs

TS ek 4T el i 8-
(A) 2,3
(B) 28,5
(C) 2,8,2
(D) 2,8,7

Stetra faeraa ferea =1 =imeres §-

(A) CH,
(B) MgCI,
(). coL
(D) C.H,

9.32. Tgeie gam wedasTeh 3] 8-

(A) N
(B) H
€ O
(D) ClI

z-

(A) KOH
(B) C,H.OH
(C) NH,OH
(D) Ca(OH),

T Q.31.

.30. Frfeifaa ® @ == wt geai=®  Q.30. Which of the following electronic

configuration is of a metal -
(A) 2,3
B) 2,8,5

©) 28,2
(D) 2,8,7

The aqueous solution of which of
the following compound conduct
electricity -

(A) CH

4

+4B) MgCl,

() 06
(D) C,H,

Q.32. A covalent molecule containing

double bond is -
(A) N
(B) H

© o,
)

u.33. Frefafea A @ s wr s s =& Q.33. Which of the following is not an

alkali -
(A) “KOH

() C,H.OH
(C) NH,OH
(D) Ca(OH),



9.34. Pt o & waree stfuferan @
2-
(A) CaO+H,0 —>» Ca(OH),
(B) NH, +HCl = NH,CI
(C) 2NH,+H,0+CO, = (NH,),CO,
(D) Cu+2AgNO,—> Cu(NO,),+2Ag

9.35. fyetfefiaa ® ¥ @A feuge ywE
gefdta o -
(A) Tifead FARES i Sl Sad

(B) HIR Tethe o1 St forera

Q.34. Which of the following is not a
combination reaction -
(A) CaO +H,0 —>» Ca(OH),
(B) NH,+HCI — NH,CI
(C) 2NH_ +H,0+CO, —>(NH,),CO,
LD) Cu+2AgNQO, —» Cu(NO,),+2Ag

Q.35. Which of the following will show
Tyndall effect -
(A) Aqueous solution of sodium
chloride
(B) Aqueous solution of copper

o

Q.36. Which of the following compound
that

sulphate
Aqueous solution of starch
Aqueous solution of sugar

does not belong 1o
homologous series - |
(A) CH, - Nn“h
® CH,
(€) C.H, " "

(D) GCgHy,

-

Q.37. IUPAC name of the compound -

H O
e
H-C-C-0H

i
H

(A) Ethanol~

(B) Ethanal

(C) Methanol

(D) Ethanoic acid



¥.38. €Tl U HACHF AU HI ST Q.38. The metal which can be extracted

- from haematite ore -
(A) Al (A) Al
(B) Fe (B) Fe /3
(C) 2Zn | (C) Zn |
(D) Hg (D) Hg
¥.39. YA W WA 9 % BT Q.39. The chemical which is not required
ATTvAeh: THEA T8l ¢ - for the preparation of soap in the
, laboratory -
(A) FEafd e J; Vegetable oil
(B) == Hrer (B) Caustic soda
(C) M= &goT (C) Common salt
(D) sfFTdre (D) Béking soda
9.40, faisren 9o, T = MUT TR Q.40. Bleaching powder, shows
TR - ‘ bleaching property because -
(A) T8 FA T T FEATE | (A) If produces chlorine gas. &
(B) & ToSI FAN 3cq=1 AT & | (B) If produces nascent chorine.
(C) F® A HTYH ST S | (C) If forms lime water

(D) o8 HfeTaq FARES AT | D) 1t forms calcium chloride
AX porh

9.47. 16 UTH AW SEATFATSS (SO,) ¥ Q.41. The number of :ﬁnnles present in

SUfeerd Wi &1 SEET B - 16.0 g of sulphur dioxide (SO,) will
a2 _

(A) 0.257e (A) 0.25 mole

(B) 0.75Hie (B) 0.75 mole

(C) 1.0¥m™ (C) 1.0 mole

(D) 0.5 (D) 0.5 mole

- 10 - >



9.42. Schee TTE1 o STgIad iyl ° seiaeil - Q.42. Number of electrons in outer most

9.43.

9.44.

9.45.

! HEET Bl § -
(A) 2

(B) 8

(C) 10

(D) 2478

S Wel, 9t & ©9 H THAT g a9
AT -
(A) STERNSaERTE |
(B) IeqfSaEiigl
(C) it raenfed st ScafSta srdr
i 1
(D) Fo ¥ qRE el Bl |

Teh ded X Thide § 3R =1 | e
AT |aHaT & | 3H firedt & aer ® @
AT &, SR 98 gaT shi Suferfa ®
3TN UhS TiaT ¢ | e X 8-

(A) RIERRY

(B) WiefergH

(C) wifeaw

(D) FHfeaaH

T WU H WHE § FH e S
R Ffafes o o frad gig =&
A

(A) T AT

(B) EHISH SeiergiA

(C) &gETT

(D) hIET &l &

-1 -

AA)

_AC

orbit of noble gases are -
(A) 2

(B) 8

(C) 10

Q) 20r8

Q.43. When water solidifies to ice, then

heat is -

Absorbed

(B) Evolved

(C) Some times absorbed and
some times evolved

(D) No change in heat

Q.44. Anelement X is soft and can be cut

with knife. It is stored in kerosene,
because it catches fire in presence
of air. The element is -

(A) Phosphorus

(B) Potassium

Sodium

(D) Calcium

Q.45. In periodic table on_ moving from

top to bottom in a group which of
the following does not increase -
(A) Atomic radius

(B) Valence electrons =

(C) Metallic character
(D) Number of orbit



9.46. SATATE -

9.47. Fratefaa o @ faraent 3o sd=0

9.48.

9.49.

(A) ¥, AT TR, Feld
(B) d, {IH 1 HIST, Fele
(C) W, Fecie

(D) @, 9 FTURR, Eﬁﬁw@@,ﬁz

Q.46. Batch is -

(A)
(B)
(C)
(D)

Sand, Lime Stone, Cullet
Sand, Wasning Powder, Cullet
Sand, Cullet .

Sand, Lime Stone, Washing

Soda, Cullet

Q.47. Which of the following is used to

! ATARZH T N BT @ - make utensils nonstick -

(A) Uil foEe FeIREsS (A) Poly vinyl chioride

(B) icil ¥=22{A (B) Poly styrine

(C) dict STl uefifer (C) Poly tetra fluoro ethelene

(D) ﬁ@ﬁﬁaﬁg@ﬁz (D) Poly ethelene tetra pthalate
TCHISS TEH FESS & ®U B Q.48. Sulphide ore is converted in to oxide
Freafataa fafé grr oftafda 2 8- by which of the following method -
(A) S (A) Roasting

(B) fH&amaH (B) Calcination |

(C) WelH (C) Smelting

(D) H&INOT (D) Corrosion

ArTag =TT o 3UATE § - Q.49. Exception of malleability are -
(A) Ca, Au, Ag (A) Ca, Au, Ag

(B) Na, K, Hg (B) Na, K, Hg =

(C) Cu, Zn, Pt (C) Cu, Zn, Pt

(D) Au, Ag, Al (D) Au, Ag, Al

-12 .



9.50. Sfeer Srefe uEel ®i GAgH @t Q.50. The process in which the complex

Iuftafy W O wETe TS | organic compounds converts in
aeT Wt feRan ShEeTTdt 8- to simple organic compound in
, presénce of enzyme is called -

(A) ETFHIROT (A) Saponification

(B) TE{HUT (B) Esterification—

(C) EASiEicaul | (C) Neutrilisation

(D) TfeRueA (D) Fermentation

Sitq fag= (Biology)

9.51. Prafeafaa W @ #eR HYASFHUTHR .51, Which is the best level of sorting

Y OB T A T - out wastes among the following -
(A) TAE W (A) Atsource |
(B) WM HSRUT T R (B) At community collection area
(C) e & W (C) At landfills
(D) GRSl ST Tl © (D) Sorting out is not required

S

9.52. Preaffga i a s araagard@as  Q.52. Which of the following system

3T A SRR U & 38 aiora receive information from our sense

T S il € - organ and act through our
muscles -

(A) ScHSH oA (A) Excretory system

(B) dfemTaA | (B) Nervous system~

(C) T IRE=WT T (C) Blood vascular system

(D) Y= oA : " (D) Digestive system

=T v O




U.53. Urel hl TGSt 99T  avaEAT Q.53 In autotrophic nutrition plants

B -

(A) hTeH STEATFIRS 37 T I
(B) eRderas =i
(C) FFHymnIs
(D) SURIeRI |t T

requires -

(A) Corbon dioxide and water
(B) Chloroplast

(C) Sunlight

(D) All the above

C

9.54. AT g SATAd 31919 W@ H Q.54. In pancreatic juice secreted by

UIEHA & 9reH o foru st |1 wemen
BT -

(A) =9H quigle T g ST |

(B) IE @& YR o =g FAT T |
(C) =59 vd 9 yd Eferi urd st & |
(D) I& T d difdsiafg waar |

pancreas which enzyme is for
digestion of protein -

(A) Trypsinogen

(B) Lipase

(C). Pepsinogen

(D) Amylase

Q.55. Garlic is a stem and is not a root

because -

(A) It lacks chlorophyl

(B) It stores food materials

}C)_ It has nodes and inter nodes

o
(Eﬁ It grows horizantally in soil

9.56. Trfofaa ¥ @ ®m @ fagim Q.56. Which of the following is an

. T AYATE § -

(A) SirEm

(B) <hdeh
(C) @A
(D) fersmoy

- 14 -

exception to cell theory -
(A) Bactaria

(B) Fungi

(C) Lichen

(D) Virus



v.57. Treferfiaa o @ F garsh sae g-

(A) THH
(B)
(C) @R
(D) T

9.58. Trferias & fore wferen o srsfusit
e watifires weeaguf § -
(A) ScaRadd |
(B) wid i gfg H
(C) ok Wit & T i # urgpsit b
Heea fer @A |

(D) Tt g |

U.59. 9@ — ®&d — IR IH @™
ST B Wrerfies SuHeT 8-
(A) =
(B) w=R{
(C) IR
(D) =T SR sl S

9.60. HIHE H YaET GUh SHRATSI &,
St Trferiaa o o fergens fou 5=
AT Tl - |
(A) SIS
(B) IS SRATFIES
(C) -megISH
(D) TeEhIS

Q.57.

Q.58.

Q.59.

Q.60.

: 5 -

Which of the following is a
connective tissue -

(A) Harmones

/(B)' Blood

(C) Saliva

(D) Sweat

In which of the following processes

meotic division is most important -

(A) Inmutation

(B) In growth of organism

(C)~ To maintain the number of

; chromosomes in one
generation to another

(D) In vegetative reproduction

Grass - Goat —» Lion in this
food chain primary consumer is-
(A) Grass

(=g "Goat

(C)- Lion

(D), Both Grass and Goat

In human beings the respiratoy
pigment is haemoglobin. It shows
very high affinity towards -

(A) Oxygen

(B)  Corbon dioxide

(C) Nitrogen

(D) Glucose



9.61. 39N N U uren faen Rramt =13
e oft, o e & AT R -

Q.61. Asha found a plant which possess

fibrous root, this plant may be -

(A) TRl (A) Maize
(B) =T (B) Gram
(C) ™ (C) Rose
(D) G (D) Mustard

&
s

9.62. el o tferiyr i mEE-uE

Q.62. In plants most of the gaseous

o gt ® - exchange takes place through -
(A) TSI HEN (A) Roots

(B) @i BRI - (B) Stems

(C) THEN (C) Stomata

(D) el h gRT (D) Flower

9.63. Frafafima & @ =9 @ gfesar  Q.63. Which of the following processes is

(C) Wi Tl aaq |
(D) hIS oY TG S U | &

- 16 -

AR g H &1 arel - not found in Asexual Reproduction-
(A) fa@aveq (A) Fission
(B) HPpcH (B) Budding
(C) I frmioT (C) Zygot formation
(D) ity feior (D) Spore formation
u.64. Frafeafaa §/Q fosw ya@= ® Sfi@ Q.64. Which of the following respiration
Eﬁﬂﬂfﬁﬁﬁfﬁm@?ﬂ% - makes more energy available to
the organism -
(A) TIEE EIEAH \(ﬂ) In Aerobic respiration
(B) 3TEREE EEAH /. (B) In Anaerobic respiration

(C) In both of above
(D) Any respiration at night



9.65. TR WIS st Ufehar & ot
IFHITH TG qard (A & | 98
Tt frapeTdt & -

(A) HEH SEEFEES
(B) UHIdH

(C) vmEfesh vy
(D) WTERIEERER 37 |

P .x
/:'I
%fﬁ! In the process of photocynthesis

plants released oxygen gas. This

oxygen comes from -

’@ Corbon dioxide

(B) ~ Water

k

(C) Pyruvic acid
(D) Phosphoglyceric acid

9.66. ity fagra & HATAR HiT W Q.66. According to cell theory which of

FYUA TE E -

(A) Tt hITRTRIE STifaa i & |

(B) HIRTHTT dhaet WoRgst hIf¥mehT
faeTe & Seo=r e €

Tl ST H s BT g |
FIIcHF SHE © |

(C)
(D)

3

' ©)

the following statement is correct -
(A)
(B)

' cell division

(C)

All cells are living

Cells reproduce only by mitotic

All cells have nucleus
Cells are structural and

functional unit of organisms

9.67. 3G ht FHHT & HWUT B AT Q.67. A disease caused by insufficient

TR -
(A) diferr
(B) ®BEUE

(C) wY¥e
(D) CHEwES (HidER)

.

amount of insulin is -
(A)

(B)
(CY” Diabetes mellitus

Jaundice

Elephantiasis

- (D) Typhoid




9.68. famfefaa ¥ @ ferad S w=RABT  Q.68. In which of the following protein is

H qraT AT E - found abundantly -
(A) TR (A) Potato

(B) T H e (B) Pear

(C) #HeH (C) Pea

(D) HETH (D) Tomato

9.69. fraferfiaa & | &= © sHRT Q.69. Which of the following diseases is

foyerfir ‘St T | I §- caused by deficiency of the
vitamin ‘D’ -
(A) T (A) Pellagra
(B) T@TII (B) Rickets
(C) ==l () Beriberi
(D) Al (D) Scurvy
w.70. Frafefaa ¥ | =i 913 B- Q.70. Which of the following is a ‘Root’-
(A) I (A) Ginger
(B) Wil (B) Radish
(C) hed=T 9Isd bl shefRT I (C) Pitcher of the pitcher plant
(D) 3] (D) Potato

9.71. UiEl o Gagd o § gEAd: U S Q.71. Vascular system of plants mainly

g - consist of -
(A) STEeH 3T FeeH ~(A) Xylem and Phloem
(B) iEeH (B) Xylem
(C) elluH (C) Phloem

(D) ﬁﬁﬁmwﬁm@rmﬂm (D) Alltype of tissues found in plants
s 18 .



9.72. FHepteal (HIEH ) E - Q.72. Mushroom is a -

(A) FErSiET (A) Protozoa

(B) e (B) Algae

(C) hah , v (C) Fungi

(D) Sifem] (D) Bactaria

9.73. Shid 9T &I T ¢ - Q.73. Which statement is incorrect -

(A) o fozdl # g (Sfaiwn) &t o AA) The soil with humus is not
vzt 3usTrss e Bt 2| fertile

(B) o= firzd & e g Bl g IS Bt (B). The soil with humus is fertile
gl L

(C) =31 wWdl & fau faee 1 (C) The soil must be porous for a
Y BT 3EYT § | good cultivation

(D) qre ﬁ{?ﬁ% HaY 37 HETH ¢ | (D) Plants are the best protectors of

the soil

7.74. Frefafaa A e s @ uweAfe@®  Q.74. Which one of the following is not

ferar T # - ' an involuntary action -
(A) =HA (A) Vomiting

(B) TR &G (B) Salivation

(C) TSI FT YSHAI ~(C) Heart beating

(D) HISH T AT (D) Chewing of food
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9.75. f=feifaa o @ fsa sas § "= Q.75. In which of the following tissues

1 THTE BIaT § - have deposition of lignin -
(A Ve (9ETE) (A) Parechyma

(B) ThicTRIZAT (TYEThITT 3xieh ) (B) Collenchyma

- (C) =fa s (C) Chlorenchyma

(b) AT (I ) /(D) Sclerenchyma

® ® B
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